
 2017 Online Exam Review

GCE Business AS Component 2 (New Eduqas) B510U20-1 

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1355 9.5 4.1 22 43.3 100
2 1350 6.9 3 14 49.4 99.6
3 1353 11.5 3.5 19 60.5 99.8
4 269 9.7 5 25 38.8 19.9
5 451 11.5 5.4 25 46.2 33.3
6 625 12.3 4.4 25 49.3 46.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2 (c) Explain the ways in which Officequip plc could have benefited from internal 
economies of scale as a result of increasing its output. [6] 


Band AO1 AO2 AO3 


 2 marks 2 marks 2 marks 


2 2 marks 
Demonstrates good 


knowledge and 


understanding of two 


or more types of 


internal economies 


of scale. 


 


2 marks  
Good application  
of internal economies 
of scale to  
Officequip plc. 
 
Two or more internal 
economies of scale 
are applied. 
 
 


2 marks  
A good analysis of how Officequip 
plc could benefit from internal 
economies of scale. 
 


The analysis shows a clear 
understanding of the impact of 


internal economies of scale. 
 


At least two internal economies of 
scale are analysed. 


 
 


1 


1 mark 
Demonstrates limited 
knowledge and 
understanding of 
internal economies 
of scale. 
 
Only one type given. 


 


1  mark 
Limited application of 
internal economies of 
scale to Officequip 
plc. 
 


Mainly theoretical 
response with limited 
reference to 
Officequip plc. 


1 mark 
A limited analysis of how Officequip 
plc could benefit from internal 
economies of scale. 
 


A superficial understanding of the 
impact of internal economies of 


scale. 
 


May only include one internal 
economy of scale.  


 
0 


0 marks 


No knowledge 
demonstrated. 


0 marks 


No application to 
Officequip plc. 


0 marks 


No analysis given. 
No internal economies of scale are 
analysed. 


 
Indicative content: 
 


Economies of scale are the reduction in average costs of production that occur as a 
business increases its scale of production. 
 


 Purchasing Economies – Officequip plc may be offered discounts for bulk buying of 


raw materials such as wood, glue, screws. This would reduce the average cost of 
production and enable Officequip plc to reduce prices or make a higher profit on each 
desk. 


 Technical Economies – Officequip plc may be able to purchase new equipment to help 


in manufacturing desks or they may introduce new methods of production in the factory. 
This will increase efficiency and productivity. 


 Financial Economies – Officequip plc may have access to a wider range of sources of 


finance, enabling them to grow even further. They may be able to negotiate more 
favourable rates of interest on borrowed money, especially as they are a plc.  


 Managerial Economies – Officequip plc may be able to employ more specialist 


managers who may increase efficiency and increase sales further. 


 Marketing Economies- Officequip plc may be able to advertise more widely and reach 


more potential buyers for their products. For example, printing out more catalogues in 
bulk will lower the average costs of each one produced. 


 
 
 
  












5 marks.



For this question there were 2 marks on offer for knowledge of two types of internal economies of scale (AO1). There were also 2 marks on offer if the candidate could relate these types of economies of scale to the case study or the office desk making business scenario (AO2). Finally there were two marks on offer for candidates that analysed the impact of both types of economies of scale on the business (AO3).



The candidate first of all correctly identified technical economies of scale (AO1) and used the case study to demonstrate that the investment in machinery would have allowed them to achieve this type of economy of scale (AO2). 



The candidate also explained the impact of falling average costs on lower prices as a result of increased efficiency from this type of economy of scale. For this argument, the candidate achieved 1 mark (Band 1) for AO1, AO2 and AO3. 



The candidate then goes and explains more types of economies of scale than what is required to gain full marks here. The candidate correctly identified managerial and purchasing and analysed the impact of them but unfortunately did not relate either of these types of economies of scale to the office desk making business scenario. As a result the answer achieved full marks for AO1 and AO3 and 1 out of 2 marks for AO2.



Sticky Note

AO1: Full 2 marks achieved.
AO2: 1 of 2 marks achieved. The answer could have achieved both marks for AO2 if the candidate linked purchasing economies of scale to buying raw materials such as wood to make desks. An alternative example could have been linking managerial economies of scale to hiring expert carpenters that could have provided knowledge of making tables more efficiently.
AO3: Full 2 marks achieved.












3 marks



For this question there were 2 marks on offer for knowledge of two types of internal economies of scale (AO1). There were also 2 marks on offer if the candidate could relate these types of economies of scale to the case study or the office desk making business scenario (AO2). Finally there were two marks on offer for candidates that analysed the impact of both types of economies of scale on the business (AO3).



The first paragraph in the candidates answer did not consider types of economies of scale and so was awarded zero marks. This paragraph described the advantages gained from economies of scale rather than types of economies of scale.



The second paragraph was much better as the candidate showed knowledge of marketing economies of scale. The candidate also linked this to the case study by recognising that Officequip was expanding and so the candidate used this to link that marketing costs can be spread more amongst more stores, with a limited analysis of the impact of this on the business. As a result this paragraph was enough to award 1 mark for each assessment objective.



AO1: 1 out of 2 marks as one correct internal economy of scale was identified.
AO2: 1 out of 2 marks as one economy of scale was linked to Officequip.
AO3: 1 out of 2 marks as the impact of one type of economy of scale was explained. 












2 marks.



For this question there were 2 marks on offer for knowledge of two types of internal economies of scale (AO1). There were also 2 marks on offer if the candidate could relate these types of economies of scale to the case study or the office desk making business scenario (AO2). Finally there were two marks on offer for candidates that analysed the impact of both types of economies of scale on the business (AO3).



The candidate only considered specialist staff as an economy of scale which was given benefit of doubt (BOD) for managerial economies of scale. The candidate showed understanding of this type of economy of scale and explained the impact well, 1 mark was awarded for both AO1 and AO3. There was no attempt to link this to Officequip and so no marks could have been obtained for AO2. 



The candidate didn’t offer any other types of economies of scale and so the answer was limited to 2 marks in total.



AO1: 1 out of 2 marks achieved as one correct economy of scale was identified.
AO2: 0 out of 2 marks achieved as there was no attempt to link economies of scale to Officequip.
AO3: 1 out of 2 marks achieved as the impact of one type of economy of scale was explained.












(B510U20-1) Turn over.


7
Examiner


only
 One of the reasons for the recent poor sales has been the expansion of Deskfurn Ltd’s biggest 


competitor Officequip plc. After investing heavily in new machinery, Officequip plc has increased 
sales by 40% in 2016.


 (c) Explain the ways in which Officequip plc could have benefited from internal economies of 
scale as a result of increasing its output. [6]
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5(a) Describe the methods of lean production which might be used in a large 
electronics manufacturing business such as Sony, Samsung or Apple [10] 


Band AO1  AO2  


 6 marks 4 marks 


 
 


3 


5-6 marks 
Excellent understanding of the key 
methods of lean production. 
 
At least two methods are provided 
 
Clear understanding of at least two 
features of the key methods of lean 
production. 


 


 
 


2 


3-4 marks 


Good understanding of the key 
methods of lean production. 
 
At least two methods are provided. 
 
The candidate outlines the features 
of at least one key method of lean 
production. 


 


3-4 marks 


The candidate applies key methods of lean 
production to the context of a large electronics 
manufacturer. 
 
Good understanding of how and why a large 
electronics manufacturer might use key 
methods of lean production. 
 
There is direct and clear reference to the 
large scale manufacture of electronics to 
support points. 


 
 


1 


1-2 marks 


Limited understanding of one or 
two methods of lean production. 
 
 
Basic description of methods of 
lean production. 


1-2 marks 


The candidate applies limited methods of lean 
production to the context of a large electronics 
manufacturer. 
 
Suggestions of methods of lean production 
are generic and may not be applicable to the 
context of a large electronics manufacturer. 
 


 
 


0 


0 marks 


Little or no understanding of the 
key methods of lean production. 


0 marks 


No specific application of key methods of lean 
production to the context of large electronics 
manufacturer. 
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Indicative content: 
 


Lean production is an approach to operations management aimed at reducing the quantity of 
resources used up in production to minimise waste within business. Waste could be physical 
waste or wasted time. Many large car manufacturers use lean production.  
 
Methods include 


 Kaizen or Continuous Improvement. The electronics manufacturer would be always 
looking for small improvements e.g. a more efficient method of fitting together 
components in a TV. Can be done in team meetings where employees offer opinions on 
improvements to managers in the production facility one step at a time. 


 Just In Time. The electronics manufacturer may have a JIT stock system, ordering parts 


and components to be delivered just as needed and a JIT production system, producing 
products virtually to order. Types of stock Sony, Apple and Samsung will need would be 
suitable application. 


 Cell Production. The electronics manufacturer may organise production into cells to 


improve efficiency and motivate workers.eg the production of laptops may be organised 
into cells dependant on the model produced. Workers will be trained to do a number of 
tasks within each cell to allow for job-rotation and job-enrichment to create flexibility and 
so employees can offer improvements in the production process in their cells. Cells can 
be self-managing, decide on each employees hours and job roles.  


 Time Based Management. The electronics manufacturer may use techniques such as 
simultaneous engineering to speed up the design and production systems. If all 
functional areas carry out the design, production and marketing simultaneously time will 
be reduced between idea to launch. This would enable the manufacturer to be first (or 
one of the first) in the market (first mover advantage). This would be a great advantage 
in fast moving high tech markets such as mobile phones. Reducing wasting time can be 
linked to using Just-in-time and the use of CAD and CAM to speed up production. 


 Any other relevant suggestion. 
  












Sticky Note

For this question there were 6 marks on offer for knowledge of lean production techniques (AO1) and 4 marks for application, linking these techniques to an electronic manufacturer such as Apple, Samsung and Sony (AO2).



Sticky Note

The candidate offers an introduction which doesn’t get any marks as AO1 is awarded for methods of lean production.



Sticky Note

The candidate offers limited knowledge of Kaizen and although some aspects are accurate to Kaizen it appears that the candidate is confusing Kaizen with quality assurance. As a result this paragraph picked up just 1 mark for AO1. There is an attempt of application in this paragraph linking to technological material being expensive, however this is too vague to be offered any AO2 marks.



Sticky Note

The candidate offers much better knowledge of lean production here by explaining Just-in-time and its key features. The explanation is just about enough to lift the answer into band 2 AO1 as two methods of lean production are provided with key features of one method described. 



Sticky Note

In this paragraph there is also suitable application here linking the importance of just-in-time to a real issue that Samsung experienced the safety of their note 5. 







5 marks.



Sticky Note

The candidate shows no understanding of lean production here so zero marks for this section.



Sticky Note

3 out of 6 marks were awarded for AO1.
2 out of 4 marks were awarded for AO2.












For this question there were 6 marks on offer for knowledge of lean production techniques (AO1) and 4 marks for application, linking these techniques to an electronic manufacturer such as Apple, Samsung and Sony (AO2).



The candidate offers an introduction which doesn’t get any marks as AO1 is awarded for methods of lean production.



The candidate correctly identifies cell production as a lean production technique with a limited description. There is also limited application here as the candidate demonstrates how apple could split work up into cells e.g. one cell focuses on screens and cases. There is enough here to awarded band 1 for both AO1 and AO2.



The candidate correctly describes just-in-time as a form of lean production. The description for this method on-top of the first method is enough to put the answer into band 2 for AO1. In this paragraph there is again limited application here referencing ordering camera parts in a just-in-time approach for Sony. The example provided isn’t enough to take AO2 from band 1 to band 2 as the example is very limited.



The candidate offers a brief description of Kaizen here with again some attempt to apply this to Samsung. The knowledge provided is still quite limited but as 3 different methods have been identified and briefly described, it’s enough to take AO1 into band 2 (3 marks). The application here again is very limited and not enough to take it into band 2 for application.







6 marks.



The candidate offers a brief understanding of time based management. The candidate has now offered some understanding of 4 main lean production techniques but understanding of each is not excellent and so the answer remains in band 1 for AO1 (4 marks). The attempted reference to Apple again is quite limited and not enough to award more than limited application (AO2).



AO1: 4 out of 6 marks for good knowledge as four correct lean production techniques were described.
AO2: 2 out of 4 marks for limited application to an electronics business scenario. There were multiple references for each lean production method, however these were quite brief. Referencing just-in-time to Samsung and their note 5 was the best part of application in this answer and on its own got 2 marks for AO2. Other references to an electronics manufacturer were not enough to take the AO2 from limited to good.












For this question there were 6 marks on offer for knowledge of lean production techniques (AO1) and 4 marks for application, linking these techniques to an electronic manufacturer such as Apple, Samsung and Sony (AO2).



The candidate offers an introduction which doesn’t get any marks as AO1 is awarded for methods of lean production.



The candidate has offered a detailed description of Kaizen but as this is currently the only lean production technique mentioned so far it is awarded AO1 band 1 (2 marks) even though the description is very detailed. 



The candidate has also offered a decent attempt to link Kaizen to an electronics manufacturing business by attempting to link production lines to producing phones and referencing that employees for electronic companies are usually highly skilled. This is just enough application here to award band 1 (1 mark) for AO2.







The candidate offers limited understanding of time based management but on top of paragraph 2 is enough to lift the answer into band 2 for AO1. There is also slightly better application to Apple, Samsung and Sony here as the candidate correctly identifies that they are international companies that sell millions of phones in a short period of time. This is enough to award top band 1 marks for AO2 at this point in the answer and is very close to achieving band 2 marks for AO2.



The candidates offer understanding of just-in-time with a detailed description. The reference to Apple, Sony and Samsung here is much better application and enough to lift the answer into band 2 for AO2. 



Linking how these international businesses may not have enough room to hold the amount of stock needed to fuel international demand for their products. This answer has now achieved top band marks for both AO1 and AO2. (AO1 – 5 marks and AO2 – 3 marks).







9 marks.



The candidate offers more understanding of lean production by explaining cell production. The explanation is enough to award full marks for AO1. The candidate has tried to use the international context again as evidence for application and only mentioned mobile phones rather than given examples of how cell production can be used for these. As a result AO2 marks were kept at 3 out of 4.



AO1: Full 6 marks achieved.
AO2: 3 out of 4 marks achieved (was closer to 4 marks than 2 marks).












5. Lean Electronics


 (a) Describe the methods of lean production which might be used in a large electronics 
manufacturing business such as Sony, Samsung or Apple.  [10]
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6 (b) Evaluate the importance to businesses of carrying out staff training.  [15] 


Band AO1  AO3 AO4  


3 marks 6 marks 6 marks 


3 


3 marks 


The candidate 
demonstrates excellent 
understanding of the 
importance to businesses of 
carrying out staff training. 
 
A clear understanding of 
how training can be 
important to businesses. 


5-6 marks 


The candidate gives an 
excellent analysis of the 
importance to businesses of 
carrying out staff training. 
 
The analysis is balanced 
and detailed. 
 
Key issues have been well-
developed with a clear line 
of argument. 
 
In-depth analysis required 
for this band. 


 


5-6 marks 


The candidate gives an 
excellent evaluation of the 
importance to businesses of 
carrying out staff training. 
 
The evaluation is balanced 
and detailed. 
 
The evaluation provides a 
balanced argument as to 
the importance of carrying 
out staff training. 
 
Clear judgements are made 
with supporting statements 
to build an argument. 
 
A holistic evaluation may be 
offered with an overall 
conclusion. 
 


2 


2 marks 


The candidate 
demonstrates good 
understanding of the 
importance to businesses of 
carrying out staff training. 
 
A good understanding of 
how training can be 
important to businesses. 


3-4 marks 


The candidate gives a good 
analysis of the importance 
to businesses of carrying 
out staff training. 
 
The analysis is uneven with 
some well-developed points 
and others which are more 
limited in their development. 
 
A number of key issues are 
developed. 
 
The candidate gives a good 
one-sided analysis. 


 


3-4 marks 


The candidate gives a good 
evaluation of  the 
importance to businesses of 
carrying out staff training. 
 
The evaluation provides a 
reasonably well balanced 
argument as to the 
importance of carrying out 
staff training. 
 
The candidate makes 
judgements with some 
attempt to support their 
evaluation. 
 
The answer may contain a 
brief conclusion. 
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1 


1 mark 


The candidate 
demonstrates limited 
understanding of the 
importance to businesses of 
carrying out staff training. 
 
A limited understanding of 
how training can be 
important to businesses. 


1-2 marks 


The candidate gives a 
limited analysis of the 
importance to businesses of 
carrying out staff training. 
 
Some elements of the 
importance to businesses of 
carrying out staff training 
 may not be analysed. 
 
A limited number of key 
issues are analysed. 


1-2 marks 


The candidate gives a 
limited evaluation of the 
importance to businesses of 
carrying out staff training. 
 
The candidate shows an 
awareness of some of the 
key issues but with limited 
development. 
 
Judgements are superficial 
and unsupported. 
 
The evaluation is uneven 
and one-sided. Evaluation 
is not explained. 
 
There is no conclusion. 


0 


0 marks 
The candidate 
demonstrates no 
understanding of the 
importance to businesses of 
carrying out staff training. 


 


0 marks 
The candidate gives little or 
no analysis of the 
importance to businesses of 
carrying out staff training. 


 


0 marks 
The candidate makes no 
meaningful evaluation of 
the importance to 
businesses of carrying out 
staff training. 
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Indicative Content: 
 


Staff training is important to businesses because: 


 It helps improve the quality of products and services. 


 It creates a more flexible workforce. 


 It creates a workforce more willing and able to adapt to change. 


 It motivates workers – Motivational theorists such as Maslow & Herzberg would agree. 


 It may increase labour productivity once employees are trained. 


 It may lower staff turnover. 


 It may lower absenteeism. 


 It may help with recruiting the best staff. 


 It may be a useful part of performance appraisal. 


 It may reduce the need for tall organisational structures and some layers of hierarchy 
and can allow empowerment / delegation to successfully take place. 


 It can allow the head office to decentralise decision-making. 
 


However, training may be less important to businesses because: 


 It costs money. 


 There may be a reduction in output whilst workers are being trained. 


 It takes workers away from the jobs they would normally be doing (especially off-the-job 
training). 


 It is difficult to evaluate whether it has made a difference to the work employees do. 


 Well trained workers may then leave or be head hunted. 


 Well trained workers with new skills may demand a pay rise. 


 If the training is not implemented correctly it may de-motivate instead of motivating. 


 Those carrying out the training may be inadequate. 


 Recruiting and selecting the right person to begin with would mean less training is 
required. 


 If a business is mainly capital intensive, training could be argued to be less important. 
 


Possible themes for evaluation: 


 Good, relevant training should be very important for most businesses, but if it is 
ineffective then the time and money spent will reduce its importance.  


 The importance of training may also depend on how good the training is, how much 
training is available and how well it is received by the employees. Some businesses 
(e.g. those that employ unskilled workers) may have little use for training, but all 
businesses to some extent will have to carry out some form of training. 


 Any other relevant suggestion. 
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Sticky Note

The candidate offers some knowledge (AO1) here of staff training, linking to it to skills and efficiency. Within this first paragraph there is also some limited analysis within the answer as the candidate has linked staff training to reducing costs and profits in the long run while making an evaluative judgement by having less need for recruitment and selection due to good staff training. At this point band 1 level marks are given to AO1, AO3 and AO4.



Sticky Note

AO1 was awarded as the candidate identified and linked staff training to recruitment and reputation. The candidate linked lots of topics together here demonstrate the impact of staff training and how it effects future recruitment, reputation, labour turnover and absenteeism.



Sticky Note

At this point the candidate has demonstrated a good one-sided answer which enables them to achieve band 2 AO1 and AO3. AO4 still remains in band 1 as although the answer is written with evaluative judgements, so far it’s still an unbalanced one-sided judgement. 



Sticky Note

This paragraph supports the previous two paragraphs and again shows very good knowledge and analysis, but as the answer is still one-sided the maximum it can achieve is top of band 2 AO1 and AO3 and Band 1 AO4 marks. Providing that the candidate offers a balanced argument after this point, the positive impact of staff training is explained to a very high standard and should enable the answer to be lifted into band 3.







Sticky Note

Offers a well-balanced analysis of the potential drawbacks of staff training. Within both paragraphs the candidate correctly identifies relevant points and explains them in enough detail to lift the answer to top of band 34 for both AO1 and AO3.







13 marks.



Sticky Note

The overall evaluation was excellent as the candidate didn’t just summarise previous arguments but offered one depends on factor demonstrating that the effectiveness of staff training isn’t always positive or negative and depends on in this case the costs versus productivity gains. 



Sticky Note

AO1 was awarded the full 3 marks.
AO3 was awarded 5 out of 6 marks. The reason why it wasn’t given the full 6 marks was because the candidate could have offered one less argument and used the time more wisely to explain other arguments in more depth. That said the answer was worthy of the highest band for analysis.
AO4 was given 5 marks instead of 6, as the candidate could have offered another depends on factor to support their judgement. That said it was still awarded the highest band of mark for AO4.












Sticky Note

The candidate straight away have offered a high level analysis within the first paragraph supported with a relevant point to gain both AO1 and AO3 marks. At this point the answer would gain top band for AO1 and AO3.



Sticky Note

The candidate again offers a very strong analysis explain why training is important to businesses. The analysis is clear and in depth which enables the candidate to gain maximum marks for Band 2 here for AO1 and AO3. As the answer is still one-sided at this moment in time, band 3 cannot be awarded for AO1 and AO3.







12 marks.



Sticky Note

The candidate offers two detailed arguments explaining why staff training may prove problematic to businesses. The two-sided analysis and depth allows both maximum marks for AO1 and AO3.



Sticky Note

The overall evaluation unfortunately lets the answer down. The evaluation is quite weak and unsupported and doesn’t offer depends on factors given situations where training may be more appropriate. The answer is well-balanced and detailed and so AO4 was given band 2 (3 marks). The final evaluation itself was not enough to lift the evaluation into band 2; the detail in the well-balanced arguments enabled this.



Sticky Note

This response shows better analysis than script one and therefore gets maximum marks for AO3, but the evaluation is much weaker and overall scores less marks.
AO1 – Awarded the full 3 marks.
AO3 – Awarded the full 6 marks.
AO4 – 3 out of 6 marks (only just 3 marks).












Sticky Note

There is a lot going on in this paragraph where the candidate offers a number of different points with limited analysis on each one that focuses on why staff training is important. The candidate has offered good knowledge of staff training and has attempted to link each benefit together. Analysis is just about enough to go into band 2 at this point in the answer.



Sticky Note

Now the candidate focuses on the drawbacks of staff training. Again there is a lot going on in this paragraph which clearly shows excellent understanding of training and the analysis her is detailed with an attempt to link the different drawbacks of staff training together. The answer is clearly a high level two sided response which enables band 3 marks for both AO1 and AO3.







12 marks.



Sticky Note

Unfortunately the evaluation is very brief and unjustified which prevents the candidate from achieving top band marks across AO1, AO3 and AO4. Band 2 can still be awarded (just about) for evaluation here as there is an excellent well-balanced answer with limited evaluative comments made throughout the answer.



Sticky Note

AO1 – Awarded the full 3 marks.
AO3 – Awarded the full 6 marks.
AO4 – 3 out of 6 marks (only just 3 marks).












6. Delivering Training


 (b) Evaluate the importance to businesses of carrying out staff training. [15]











